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Topic:- General Knowledge and Logical Knowledge

1) Sanchi Stupa was built by / |9 &U PT fAutor feaA fean?
1. Bimbisara / f[dfeOR

2. Raja Bhoj / XTSIl HIST

3. Ashoka / 3N

4. Kanishka / Bh

Correct Answer :-

« Ashoka / 32N

2) How many different 6-digit numbers can be formed from the digits 4, 5,2, 1,8, 9 ? / 3{®1 4, 5,2, 1, 8, 9 9 freq

6-3iep] arelt @Y fAfifd &) o g dt 82
1. 480
2. 360
3.720

4. 840

Correct Answer :-
e 720

3) How many associate banks merged with State Bank of India (SBI) in 2017 / 2017 # YRdg Re 9 (@'q%ﬂé)
& A1y fpan wgartt §& faaa gu

1.4
2.6
3.5

4.70

Correct Answer :-



4) Which State will become the first to launch a blood bank for cattle? / U] * '[%I'Q' Th &S S A= B arer
T UGN I DI AT T2

1. Gujarat / ORI

2. Tamil Nadu / I g
3. Odisha / 33 3

4. Haryana / Eﬂ'qTUT[

Correct Answer :-

e QOdisha/ 33 3|

5) Which of the following scientists was associated with the first nuclear explosion in Pokharan? / URazor o qﬂﬁ

TRty fawpie & Ay Fafifed & 9 o9 9 e dd9s 32
1. Satish Dhawan / Tcli=T ¥a

2. Raja Ramanna / XTSIT XHAT

3. Vikram Sarabhai / [asp# ?TRT'J-I'I_Sc

4. S S Bhatnagar / T T YR

Correct Answer :-

¢ Raja Ramanna / XTSI XA

6) Which is India’s highest award in cinema? / REATT & YRd &1 Ha= YRIPR CaG| Gl %‘.’
1. Dadasaheb Phalke Award / GIGT Tgd Bled RIOR

2. Academy Awards / Q%Iﬁ IRIPR
3. Filmfare / TheAtER

4. 1IFA / 38T

Correct Answer :-

« Dadasaheb Phalke Award / GTGT HTgd Whled JREHR

7) The Tansen Music Festival is held in __. GIGE: B KL m . o mafora foar simar %I
1. Indore / _S'EaT

2. Gwalior / TaTfCRIR

3. Ranchi / el

4. Bhopal / T

Correct Answer :-



« Gwalior / TR

8) Kudankulam Nuclear Power Plant is located in | PUSAPTH T ﬁg‘q?r LIRCIEE] |
@3

1. Gujarat / T[oRTd

2. Uttarakhand / STRRIS

3. Tamil Nadu / AT

4. Madhya Pradesh / THYC

Correct Answer :-

« Tamil Nadu / dHTTg

9) Parmeet and Charu start moving towards each other from 2 places 200 m apart. After walking 60 m, Charu
turns left and goes 20 m, then turns right and goes another 40 m. She then turns right again and comes back on the
path on which she started walking. If Parmeet and Charu walk with the same speed, What is the distance between

them now? / TRHTT Td TRE 7 2 TH RITFT & TH-guX Bt 3R T IR foman siY 200 Hex 1 g wr §1 60 .
T & 91 IRE 915 3R G 20 W, Teft, fbr a8 1S 3k g3t 3iR 40 1. 7 Teft| fhe 98 v IR f 18
3R g 3R 3 At U= aras 3 S ford R 39 e IR fhar A1 afe urHie 3R aRE JHH e |
TAd g ol 39 TG TP A DI gt FTERA?

1. 40 m / 40 HI.
2.20m /20 HY.
3.50 m/ 50 .

4,10 m/ 10 Y.

Correct Answer :-

e 40m/40 9.

10) The Bhakra Nangal Dam is built across the River / HIRAST T Y EX3) =|'tﬂ R fAfifa %:
1. Jhelum / SH

2. Chenab / TS

3. Ravi / (@t

4. Sutlej / Hdclol

Correct Answer :-

. Sutlej / T

11) Average literacy rate of Madhya Pradesh according to 2011 census was / 2011 P SATUHT & SR Y

TR P T JreRdr o3 A1



1. 24.33%
2. 58.19%
3.69.32%

4.75.2%

Correct Answer :-

¢ 69.32%

12) Viswanathan Anand is a famous player of __ / ICECEINE R BT * m m%l
1. Golf / et

2. Hockey / el

3. Badminton / SSf¥e

4. Chess / T[S

Correct Answer :-

« Chess / A

13) Most important towns in the Malwa region are / HICId[ PR: KL Wf Qe %
1. Panna and Ujjain / Tl 3R I

2. Ujjain and Indore / I=H 3R E_CaT

3. Umaria and Rewa / SHRAT 3R a1

4. Rewa and Bhind / XdT 3R fyug

Correct Answer :-

e Ujjain and Indore /S 3R 3& X

14) The term of office of the Governor is / ISAUTA BT HRIPT fhd=T ﬁ?‘“ %‘.’
1. 6 years/ 6 G
2. 5years/5 CL
3.3 years/3 CL

4.4 years/ 4 CL

Correct Answer :-

. 5years/53'5f



15) The term ‘Deuce’ is associated with /RMeq "SYI' SO Aafa §
1. Cricket / fshepe
2. Hockey / E’m

3. Football / Beid
4. Tennis / 9

Correct Answer :-

« Tennis / <Y

16) ‘Home Rule League’ was established by / '?ITT T ART B RITYAT ?FI% GRT &1 T <A
1. Bal Gangadhar Tilak / STc TRTIER faa®

2. P.S. Mehta / 41T Hgdl

3. S.N. Bannerjee / TH. U, cEcil

4, Annie Besant / Q:ﬁ e

Correct Answer :-

e Annie Besant / Q:ﬁ e

17) Who was the first non-American TIME person of the year? / gl R-3mfvat cIgH T 3T ﬁs’lﬂ P
Yr?

1. Indra Nooyi / g=I '_‘[5;

2. Mahatma Gandhi / HETHT Tﬁ%ﬂ
3.JRD Tata/ S 3R S el

4. Narendra Modi / X5 Hig]

Correct Answer :-
e Mahatma Gandhi / HGTHT el

18) Who won the Women's Singles China Open Badminton Tournament in 2016? / 2016 ﬁ'l:l'%?ﬂ Thd 9 3=

sfifest gatawe fw siar 2

1. PV Sindhu / U1 &Y g

2. Jwala Gutta / SdTcIT I[aT

3. Ashwini Ponnappa / S Orera
4. Saina Nehwal / 1T EI_E:'TJI'IFI

Correct Answer :-



« PV Sindhu /Ul dt Ry

19) Two dice are thrown simultaneously. The probability of getting a sum of 8 is / | mﬁw a1y a'ﬁﬂTQ' %I S

P HeR) BT AR 8 3 P yriewdr fFre & /R 8:

4

36

Lid |
=

| =

1
4
4,

Correct Answer :-

20) The famous Sarod Player born in Gwalior was / aqiferaR o ﬁ?{r Y RIS W CIEED g
1. Amjad Ali Khan / 351G 3¢l @

2. Pandit Ravi Shankar / Uf&d Ifd Rjex

3. Pandit Jasraj / UfSd SRS

4. Ravi Shankar Shukla / fA=IDHR el

Correct Answer :-

« Amjad Ali Khan / 3{A9Tg 3fcll @

21) was conferred with the International Maritime Organization Award for Exceptional Bravery at Sea

in 20162 / 2016 & TS H SHATURY Y P oY SieRTPHa THET W16 o1 TR 3ty forar
T?

1. Captain Urvashi Rana / HTdlH RERIRIE

2. Captain Radhika Menon / Ul NIBCAR:EE]

3. Lieutenant Ganeve Lalji / Wftere THa ATl

4. Lieutenant Commander Priya Jeyakumar / dftede HHTeR U é@rrr{



Correct Answer :-

« Captain Radhika Menon / P X ferepT A

22) Find the odd one out: / Uh fauw ATd a?rl%nz:
1,1, 2, 6,24, 98, 720, 5040

1. 98

2.6

3.24

4. 720

Correct Answer :-

23) The original jurisdiction of the Supreme Court covers / STdH AT a?q;a PR &= § =nfira %
1. Terrorism-related cases / HTADH TG Tadd AT

2. Disputes between different units of the Indian Union / YR1g 99 &1 fafia Q_Cb—lgth & dg faare

3. Criminal cases / 3TARTTYH AT

4. Issues regarding National Integrity / T@q JGSdl & favg o H%

Correct Answer :-

« Disputes between different units of the Indian Union / YR I9 &1 fafye Wlé'ch FdHg faare

24) The Indians who were conferred with the Ramon Magsayay Award 2016 was T M Krishna and /a

YR forg T AR RIBR 2016 § WG fparmarur, A gapwisik @)
1. Kiran Bedi / faor 9t

2. Bezwada Wilson / SSTaTST faea

3. Harsh Hande / Y 8108

4. Arvind Kejriwal / 3Rfdg doRiard

Correct Answer :-

« Bezwada Wilson / Sotarel facq

25) Complete the series choosing the missing number: / & HS&IT TAB YTAT B T BT
1,6,11, 21

1. 16



2.12
3.18

4. 14

Correct Answer :-

e 16

26) Complete the series choosing the missing number: / & ST TAB YT Bl [T HIFOIC:
80, 73, 66, , 52

1. 58

2.59

3.55

4. 60

Correct Answer :-

« 59

27) Complete the series choosing the missing number: / & ST TAH YEAT BI [T HIfOIC:
27,23,19,15, _

1. 12

2. 10

3. 11

4. 14

Correct Answer :-

28) The series given below contains a sequence of numbers. Identify the incorrect combination: / CiE]

3 18 omar #, Tewmsil 1 Ue HH IuFRIC &1 Tad TUIe Ugen=e:
1, 3, 10, 21, 64, 128, 388

1. 10

2.388

3. 128

4. 64

Correct Answer :-



29) The series given below contains a sequence of numbers. Identify the incorrect combination: / CIE]

& € e #, SEa BT e A IUFRIA & | TTerd Hale YgErg:
2, 5,10, 17, 26, 37, 51, 65

1.51

2.26

3.17

4. 65

Correct Answer :-

30) If FLOWER is coded EMNXDS, then how is GAMBLE coded? | Uf¢ FLOWER &Y EMNXDSQ Hifsd
fooaT Wit 8, 9 GAMBLE & $A Hifsd forar s

1. HCODNG
2. BFCKLF
3. DMXNES
4. FBLCKF

Correct Answer :-

» FBLCKF

31) Complete the series choosing the missing letter/s: / &l &R/ 3MERT B EGEZELCRI B Ul PIfoTC:
__aaba__bba_bba abaa b

l.a,a,b,a,b

2.a,b,a,b,a

3.b,b,a,b,b

4,.b,b,a,b,a

Correct Answer :-

32) Select the option that is true about the Statements and Conclusions given:

Statements:



All shirts are trousers
No trouser is a towel

Conclusions:
I. Some shirts are towels
II. No shirt is towel

/ 39 e &1 99 Bifoe SifP e T Syl sk fFrepuf P aR A T § -
DYH:
it 7 TeeR ®

PIS TSR diferar T8l @

.

1. 39 E Aferar §

1. ®1E T diferar 78 @

1. both conclusion I and I follows / fSFS I 3R 11 GFI 3FTRT B &

2. cither conclusion I or conclusion 11 follows / TT Y fshy 1 A1 Fpd 11 SR B %
3. only conclusion II follows / Had ﬁwﬁf I 3{JERUT HdAT %

4. only conclusion T follows / ad FHY I SFJIRUT BT §

Correct Answer :-

« either conclusion I or conclusion II follows / T al ﬁ'@ﬂh gq7 ﬁﬂﬂﬂf 11 38R0 A %

33) Select the option that is true about the Statements and Conclusions given:

Statements:
Some mails are letters
All letters are posts

Conclusions:
I. Some posts are letters
I1. Some letters are not mails

/ 39 fape &1 99 B SifP feg Te syl sk Frepuf P IR AT § -
DHY:

POAATAE

s U

e

LPOURRTHE

1L T8 U Ad T &

1. both conclusion I and II follows / feFs 1 3R IIEﬁ:ﬁWW%

2. only conclusion II follows / Had (s 11 WW%

3. only conclusion I follows / Had R I 3IRTT BT §



4. neither conclusion I nor conclusion II follows / 7 81 fFHY 1 3R 7 81 fAhY 11 SRR &3l §

Correct Answer :-

« only conclusion I follows / Had ﬁ'ﬁﬂh SITIRUT pdl %

34) Select the option that is true about the Statements and Conclusions given:

Statements:
All fruits are vegetables
All vegetables are fresh

Conclusions:
1. All fruits are fresh
I1. Some fruits are fresh

/ 39 fapeu &1 99 PIfoE Sife fau U sy sk fAspuf F IR A Agl @ :
DYH:

Tt o afesrai §

It afesrat amht &

e

I.H‘Jﬂ;ﬁfaﬁf%’
1. $O Bd a9l &

1. both conclusion T and II follows / fSGS 1 3R 11 AT IR HA G

2. only conclusion II follows / Had ﬁmﬂf 11 3{JERUT HhT %

3. only conclusion I follows / FHad ey |1 S{TIRUT pT %

4. neither conclusion I nor conclusion II follows /= Eﬁ ﬁ'Eﬁ'SfI GﬁT - ﬁ ﬁmv_ﬁf T 3R] A %

Correct Answer :-

« only conclusion I follows / Had fFAspy 1 STTIRUT Dl %

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All planes are trains
All trains are buses

Conclusions:
I. Some planes are buses
I1. All buses are planes

39 famey &1 99+ Fiore Sife g T8 Y= sik fAspuf F IR A T 2 :
DYA:
G HE e



afteaTa?
o

1. 3O JeTI 99 &
Lt s S §

1. both conclusion I and II follows / fsFS I 3R 11 &A1 ST FRA B

2. only conclusion II follows / Had ﬁwﬁf 11 ST Dl %

3. only conclusion I follows / FHad Fspy | S{TIRUT pT %

4. neither conclusion I nor conclusion II follows / 7 &1 Fhd 1 3R 71 & fswef 11 ST FRA B

Correct Answer :-

 neither conclusion I nor conclusion II follows / = é’r ﬁ'@?@h GﬁT - ébf ﬁ'ﬁﬂf I 38R B %

36) In a certain code language, Eat fresh apple means keat teek kata, Eat the food means meek peek
teek, Fresh lime juice means kata seda tob. Which is the word for keat in that code language? / T&
TR BIS YT ﬁ, Eat fresh apple &1 3 keat teek kata; Eat the food &1 3 meek peek teek dUT Fresh
lime juice @1 3 kata seda tob BdT 81 $H ®IS HTWT H keat & forg {3 Wreg &1 gxwTa fobam war 82

1. juice
2. apple
3. lime

4. food

Correct Answer :-

o apple

37) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out:

/ g vy ® 3Rl & 3o T4g fRr MY 8, Rrd A te ) Siser Ay 9t e JurEar welkfa #vd § wafe e
34 fis 81 v fawwm gra ifvre:

1. TVX
2. MOQ
3. GEC

4. PRT

Correct Answer :-
o GEC

38) If MADRAS is coded NBESBT, then how is MUMBAI coded? / 9fé¢ MADRAS &I NBESBT & Sifsd
g wiTaT 8, 9 MUMBAI &) &4 Sifed fear Sm?



1. NVNDBJ
2. NVKCBJ
3. NVNCBJ

4. NVNCZJ

Correct Answer :-
« NVNCBJ

39) In a certain code language, Please avoid drinking means cor jus nel, Drinking is harmful means nel cun
rem, and Avoid harmful habits means jus ben cun. Which is the word for isin that code language? / T W
PIS UIST 'ﬁ', Please avoid drinking 1 3l ¥ cor jus nel; Drinking is harmful 1 3{ & nel cun remadT Avoid
harmful habits ®1 34 jus ben cun 1 §1 T BIS HIWT H js P forT 5T Wsg 1 sTWTA fobam a1 82

1. nel
2. rem
3. jus
4. cun

Correct Answer :-

* rem

40) If CINEMAis coded GERAQW, then how is THEATRE coded? / Gfé CINEMA &Y GERAQW S Sifsa frar
ST §, A THEATRE S 9 HIfSd fhar s

1. XDJWXMI
2. XDIWYMI
3. XDIVXNJ

4. XDIWXNI

Correct Answer :-

 XDIWXNI

Topic:- Mental Ability and Mental Aptitude

1)



In the sequence shown below, which figure comes next? / =il &3 3/ &H #, el
T it d HrEf?

If the following two squares shown below overlap, which one of the following options

is formed? / afg &= 21 a9 Afdemaa gid &, df & & & &l a1 v Qe a=adr &7

o -




-
1‘f:_ __EJ‘J
7 ]
1.
|
-
'f
& ]
[ p——— ]
el 1
2.
"N
N
¢
ol 4
3.
LT
A
[ L]
AL
Vo
4,

Correct Answer :-

R4

(] \’

————d

= 2

3 In the sequence shown below, which figure comes next? / =il &3 a3 &A #, 3Tl

G Fa € 3

O[] @
o

I i m v




1 . . f
2.
.
»
3.
P
\
[+ )
4.

4) Two pipes A and B can fill a tank in 30 hours and 35 hours, respectively. If both the pipes are opened
simultaneously, how much time will it take to fill the tank? / GI UTSU A Td B SHHIT: 30 He 3R 35 42 A T P Pl
W HA ¢ 1 e G UIgU TP A1Y WA 914 &, dl &b Bt WA § a1 aog T2

16— hrs / 168
13 13

5 B,
16 —hrs / 16—_H¢
13 13

12 12
16— hrs / 16 =9¢C
13 13

2 2.
16—hrs / 16 =%¢
13 13

Correct Answer :-
2 Lo
16—hrs / 16—d¢
13 13



5) Three boys Hari, Biju and Naga together have Rs. 675. Hari has got three times as much as Biju but Rs. 25
more than Naga. How much does Naga have? / 9 ASHI BN, Eﬂﬁj\ﬂ?ﬂ v §i41 & U od ey 675 U
21 5 & ura A A i 7731 3R Afp 7 A 25 FuT 34w 72 AN & U freq vuw B2

1. Rs. 275 /27594
2. Rs. 175/ 175%4UQ
3. Rs. 375/375%UU

4. Rs. 325 /32524

Correct Answer :-

* Rs.275/275%UU

6) Mahesh has Rs. 50,000 which he converts to Dollars at 1 Dollar = 45 Rupees before going on a weekend trip to
foreign. After returning he finds that he still has 200 Dollars remaining with him. How much amount in Rupees did
he spend during his trip? / FISRI & URT 50,000 ¥ &, o a8 fae=f amn wR &M | ugd 1 ST = 45 TUT B X
¥ SToR # 9gadT 31 TieA & 91 98 UTdl & fob 39 U 3t +ff 200 STeR AW 1 Sra+i 9 & R I
fpaq v @4 fpw?

1. 41,000 Rupees / 41,000 ¥UI
2. 40,000 Rupees / 40,000 3T
3. 35,000 Rupees / 35,000 ST

4. 45,500 Rupees / 45,500 ST

Correct Answer :-

« 41,000 Rupees / 41,000 ST

7) 1f 90 % of a - b is equal to 60 % of a + b, what percentage of a is b? 1 af& a-b BT 90% a+b P 60% P W%,
@t a &7 fa=n uferra b 82

1. 40
2. 10
3.20

4. 30

Correct Answer :-

8) Which of the following pair has the same ratio as 70 : 105? Frafafeadw fea Eﬁ@m SIUTd 70:105 *
HHM B2

1. 496 : 620

2.366:244



3.185:370

4. 468 : 702

Correct Answer :-
o 468 :702

9) The product of 103, 102, and 98 is: / 103, 102, QH 98 T UIH %:
1. None of the above / mﬂﬁﬁ@ﬁ’sﬁ lﬂ:lﬁ

2. 10,28,588

3. 10,29,568

4. 10,29,588

Correct Answer :-

* 10,29,588

10) What will be the last digit, when you expand 7233 2 / 3ifo 3iep =T 8T, 919 3MY 7233 7 faRAR B2
1.6
2.7
3.9

4.3

Correct Answer :-

11) John can paint a house in 15 days; Joe can do the same in 10 days; while James can do it in 5 days. If all the
three work together, then what part of the job can they complete in one day? / o 15 fet / Udh U P Ue Y
HHdl §; S 10 fE=1 H T B AT 7; STaid o 59 5 T3 § H3 wovan 81 3fe i1 Ue a1 o1 $34 3,
@t 3 U foT # &t &1 fhaT fiavan R1 o 9opd 82

150 | bk
'-.o-'!|'-.l-"

Lad | s

11

3, 30

4, None of the above / mﬂﬁﬁ_ﬁc ot '_'|_Eﬁ



Correct Answer :-

12) The ratio between the present ages of Yolo and Zolo is 6 : 7. If Zolo is 4 years old than Yolo, what will be the

ratio of the ages of Yolo and Zolo after 4 years? / arEt 3R et B adar S{TY T SAUTd 6:7 21 9l e At
P AT H 4 i 7T, 1 4 9 91¢ T AR Al B TG BT SITUTT T FRI?

1. Noneofthese/mﬁﬁmlﬁﬁ
2.8:5
3.7:5

4,7:8

Correct Answer :-

13) Average income of 100 employees 92, out of which average income of 40 employees is 80. What is the average

of the remaining 60 employees? / 100 ARG P T 3T 92 %, forH 9 40 Fe=RAl @Y 3 3ma 8o %I
QY 60 HHATRG] BT ST 3T T 52

1. 100
2.105
3.95

4.92

Correct Answer :-

« 100

14) T1f the average score of 30 boys in a class is 80; and the average score of 20 girls in the same class is 90; what is

the average score of the entire class? /ﬂﬁ'@ﬂ"fﬁi”ﬂ asaﬁ?ﬂ 3T TP 80 %; MR I T H 20 FISﬁ"_CﬁEF[
ST TR 90 B; 1l T T & 3T THR AT 8?2

1. 84
2. 82
3.80

4.90

Correct Answer :-

. 84



15) A fruit vendor purchases 3240 apples at USD 7 a dozen. During transportation, 10% get damaged and have to
be discarded. The remaining apples are sold at the rate of USD 2 for 3. What is the profit or loss percentage? / b

T faohdr A 3240 AT BT 7 STaR Ufd ol P 2 A WIeT1 TRTET & ERM, 10% &faus g1 oid & v g4
%o faaT SITaT 81 AW VY 2 STaR Ufa 3 A9 B X A =1 9141 8 1 A1 3ryaT g1f ufa<ra w82

| .
2-% profit / 2=% @
7 7

1.
2 2
1-% profit / 1-% @&
3 3
2.
6. 6,
2;% profit / 2% el
3.
2 2
4-% profit / 4-% o
i !
4.

Correct Answer :-

2-"% profit/ 2-% o

—1 | o
"—ll o

16) A spherical lead ball of diameter 15 cm is melted and lead shots of radius 1.5 mm are made. The process

involves wastage of 3%. How many lead balls are made? / 15 @ﬁmmﬁﬁa%wﬂwﬁzﬁﬁaﬂm
;ﬁ;}ﬁmmﬁﬁaaﬁﬂ?WW%’l 39 ufshar & 39 o1 gafdl ot wfda 81 ra 3t forai 71 T18

1. 121250
2. 7760
3. 62080

4. 970000

Correct Answer :-
e 121250

17) A father is four times as old as his son. Four years hence, the sum of their ages will be 43 years. The ages of the
son and the father are , respectively / T fUdT MU T & IR TAT IST 2| 4 T4 q1G, ST 3T BT TN 43
¥ g1 g 3R frar &Y 39 2l

1. None of the above / mﬁ@faﬁ_ﬁt 'l-ﬁ'_ﬁ?f
2. 3 and 26 years / 3 dYUT 26 ¥

3.5 and 27 years / 5 YT 27 CL



4. 7 and 28 years / 7 dYT 28 GL

Correct Answer :-

o 7 and 28 years /7 Al 28 a4

18) 14 workers can make 10 tables in 5 days. 10 workers started working, and 1 worker joined on the sth day.

How many days will take to make 12 tables? / 14 ms%tﬁﬁ 10 mﬁm%l 10 4P A HTH BT
TR e, 7T 1 4w 5 o Tferer @Y | 12 d9e S | e R el

1.4
2.7
3.9

4.8

Correct Answer :-

e 8

19) A fresh fruit contains 62 % of water, and a dry fruit contains 24 % of water. How much dry fruit can be
obtained from a 100 kg of fresh fruit? / T TS B | 62% od (Higd &, 74T TP G& Bd A 24% o AR 21
100 fraumH Aol Ba A fHar Y@ wa urd fohd o 9@ d 82

1. 48 kg / 48 fobum
2. 50 kg / 50 fa3mm
3. 40 kg / 40 T

4. 45 kg / 45 foun

Correct Answer :-

« 50kg/ 50 fopum

20) The ages of a group of four people are four consecutive even numbers. If the sum of the age of the group is 156
then, find the age of the oldest member of the group. / b Hg & IR AN B 3T TR IR FH =AY gl
i TG DI 3T BT AT 156 8, N TYE F TaA T TG D1 AT 71 B

1. 42
2.40
3.36

4. 38

Correct Answer :-

. 42



21) The average of a set of 20 values is 15.8. The mean increases by 0.4. When a mean value is added to the set.
Then the new value is: / 20 & TS THE PT 3T T 15.8 | AT 0.4 TP T¢ ATT & | 519 TH WA A GHg A
SIIST SITaT 8 | & 191 7 g:

1.242
2.20.4
3.15.8

4.22.4

Correct Answer :-

e 242

22) The ages of Imran and Akbar are in the ratio of 3 : 4. If after 16 years their ages will be in the ratio 5 : 6, then
what is the present age of Imran? / SURT 3R 3[HaR B 3 3: 4 F AJUTd # g1 A 16 T T1¢ ITP Y HT
ST 5:6  G1, Y SURT &) IHT= Mg T 82

1.24
2.29
3.27

4.25

Correct Answer :-

e 24

23) The average weight of A, B, C is 55 kg. The average weight of A & B be 50 kg & that of B & C is 60 kg. Find
the weight of B./ A, B Td C T 3¥Id aoI 55 fPARIMM 81 A TH B &7 3NHd 9o 50 fHelumd & 9T B Ud ¢ &1
60 TSI 81 B &1 a9 91d B3|

1.57 kg / 57 fpaum™
2. 60 kg / 60 foraama
3. 50 kg / 50 fpanmA
4. 55 kg / 55 forammd

Correct Answer :-

. 55kg/ 55 fopaumd

24) The cost of 15 articles is the selling price of 10 articles. Find the profit %. / 15 T\ﬂ&ﬁ P GRI, 10 a'\aaﬁ Cal
fawa g 81 1Y % Fa B

36%



66— %
3

33-%
]

20%
4,

Correct Answer :-

0%

25) In the same time-span, Mark Spitz can swim twice the distance downstream than upstream. The speed of the

current is 2 kmph. How long would he take to swim 3 km in still water? / Tk m Udh B a9y Srafy 'ﬁ faoda
RT Y T YRT & A1 G g} 9% R Ha1 ¥ 1 URT I AR 2 R wfy wer 2 RR U 3 R,
O ¥ I fpa=n wwa a2

1. Cannot be determined / F&a qﬁmwm%
2. 48 min / 48 fTC
3. 30 min /30 fFC

4, 24 min / 24 fiFe

Correct Answer :-

« 30 min /30 fiFe

26) A train shuttles between stations A and B, and stops at 5 intermediate stations for 5 mins each. Assume that
the stations are at equal intervals of 10 km, and the train is moving at a speed of 50 kmph, how long will it take to

reach B? / U YTTTS! WM A 3R B & §19 Wed Bl € 3R 5 e & fore ud® 5 Aegadf R xE R ol
?1 714 & fp R 10 frHt F SRR iR W E 3R 3 50 fFp ufy se iy A em g i ], s B ao
g+ ¥ fora=T |wg @

1. 97 min / 97 fie
2. 85 min/ 85 e
3. 60 min / 60 e

4,72 min / 72 fFC

Correct Answer :-

« 97 min /97 fiAe



Which one of the following four addresses is NOT EXACTLY same as the one given below? / fafaam
IR vl # § T 38 T ud & St qHE S19 91 v T8 82

Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(i) Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(ii) Stephen Horlicks,
23-36 Alpine Place,

2171 Morningsea Park, Australia

(iii) Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(iv) Stephen Horlicks,

23-36 Alpine Place ,

2171 Horningsea Park, Australia
1. iii

2.iv

3.1ii

4.1

Correct Answer :-

28) Find the average. / 3Na e |
81,72, 63,55,43 & 34
1. 58

2.52



3.61

4. 56

Correct Answer :-

58

29) A thief is noticed by a policeman from a distance of 200 m. The thief starts running and the policeman chases him.
The thief and policeman run at the rate of 10 kmph and 11 kmph respectively. At what distance will the policeman

catches the thief? / T TR 200 Hiex Pt gt A T YISl gRT 1T AT4T 81 TR ST 3RY HXal @ 3R
Rl Sue fior Hra §1 TR iR gRrasHf wasr: 10 fd ufa ger ik 1 5 ufa 9 Ft v 3 fsa
21 gl R @) e g8t R U eil?

1. 2.4 km /2.4 foe
2.2.2km /2.2 fHt
3.2 km/2 f&Ht

4,2.6 km/ 2.6 fHu!

Correct Answer :-

e 2.2km/2.2 fHHl

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / LiE| &

TS gaar ¥, &Ry 3Nk T=msil &1 vs v fAfed § | Tera Yo ugane:
i.qwerrq08031rqewq

ii.qwerrq08031gqewq

iii.qwerrq08031rqewq

iv.qwerrq08031rqewq

1. 1ii

2. iv

3.ii

4.1

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)



By what number should (g) -4 be divided so that the quotient is (%)
94 ()4 B wEAT W A B S R seer ()¢ o
&2

Correct Answer :-

o

=

2)

Correct Answer :-

i5

3)
In the adjoining figure, if 2SPQ = 65" and 2SQP = 70°, Then, /PRQ=——'12u 717 &7 #, Tfg 2SPQ

= 65° 31 2SQP = 70°, T, ~.PRQ=—"




1. 500
2.350
3. 40°
4, 450
Correct Answer :-

o 450

4) Vacuoles are cavities filled with a fluid called ./ 7|yt WA U g W%I
1. starch / ©Td

2. proteins e iG]

3. fat globules / I9T TMfchTq

4. cell sap / IFRHT I

Correct Answer :-

« cell sap / PIRBT T

5) Find the mean of first 5 two-digit multiples of 4. / 4 * Q'E!?f 5 3."[ 3Pl T {[Wﬁ"ﬁ BT HIH IJATd Y|
1.24
2. 16
3.20

4.22

Correct Answer :-

6) Find the quotient when x* + x - 72 is divided by x — 8./ x% + x — 72 B! x — 8 & T 37 W HFTHH FId |
1.X-9
2.X+9
3.X+8

4,2x—8

Correct Answer :-

¢« X+9



7) Plaster of Paris is stored in a: / WIRCEY ar"ru?ﬂﬁ'\q aﬁsﬂﬁwi%a B %
1. Metal containers / YTq Ul

2. Moisture-proof container / :W-ﬂ ﬁiﬂ LIE]

3. Insulated containers / ¢t O

4. Glass containers / i & U

Correct Answer :-

e Moisture-proof container / T4 A<t U

8) A pendulum oscillates 60 times in 8 seconds. Its time period is: / wvﬁw 8 AHUS | 60 WWW%I
T IHY 3afY &:

1. 1.35 s /1.35 4HTS
2.0.235/0.23 GHUS
3.2.145/2.14 4HUS
4.0.13s/0.13 YHUS

Correct Answer :-

e 0.135/0.13 9HTS

9) Calculate the amount if the principal = Rs. 6000, time period = 2 years and rate of interest = 5% per annum

compounded annually. / YIRTIRI B MU BY, Tfe HAYUT = 6000 FUY, Af = 2 I AT T 2 = 5% qMfid FU A
THgfad gl

1.Rs. 6615 /6615 300
2. Rs. 6420 / 6420 3T
3. Rs. 6390 / 6390 STY

4. Rs. 6525 / 6525 3UY

Correct Answer :-

« Rs. 6615/6615 3

10) Refraction of light is responsible for: / WhTRT BT ygad fFr & ﬁl’E mﬂﬂ '{?R‘IT %:
1. Shadow formation / BTIT & fAHfor

2. Twinkling of stars / IRl &1 feafea™

3. Blue color of the sky / 3ThIRI & i T

4. Rainbow / 3_9?9471’5[



Correct Answer :-

» Twinkling of stars / IRl &1 feafea™

11) 7225 Students are sitting in an auditorium in such a way that there are as many students in a row as there are
rows in the auditorium. How many students are there in the auditorium? / b HHT Ha- i | 7225 ST H UPIR a%' %
& o dfea o 3o o &, -t au1 Ha= # dfdaai §1 991 wa= & fraa s 72

1.75
2.85
3.95

4. 65

Correct Answer :-

4,35

Correct Answer :-

13) In India, oil wells are found in: / HIRd ﬁ, AP ?ﬁ 'CIETUTE[ SIGI %
1. Goa / T3MT

2. Karnataka / H-Iicdh

3. Orissa/m

4. Assam / 3HH

Correct Answer :-

e Assam / 3{H



14) Spot the producer from the following. / frfofea ¥ 9 S &t ﬁl’%ﬁ' Gl
1. Grass / YI¥

2. Bacteria /GﬂEI'IT{[

3. Grass hopper / éﬁ

4. Mushroom / HRIX™H

Correct Answer :-

e Grass/YNq

15) Name one fungus which affects stored food grains. / 3 Udh ddh B[ HATH ddIgT, S U [T Y
TUTId Hear 3

1. Neurospora /W

2. Bracket fungus / SPHc B
3. Aspergillums / TERATER
4. Agaricus / Q’ﬁm

Correct Answer :-

« Aspergillums / TERTaR

16) A new born baby will double its weight in 2 months due to: /Wﬁ'ﬁ{[ =1 % HRUT 3TAT YR 2 Hg s | Iﬁ
T[T B A:

1. Overeating / 3(AY®H W & HRUT

2. Increase in the number of body cells / Wﬁaﬁﬁwﬁaﬁmﬁq@%w
3. Increase in fat/Wﬁ@@%W

4. Protein in milk/§ﬂﬁ@f_cpf:f$w

Correct Answer :-

« Increase in the number of body cells / TR ﬁaﬁ&m@haﬁmﬁq@%m

17) The outermost covering of all plant parts are made up of: /Y & Gt YRN BT WW 3aRor fA=1 | &1

_Eﬁ?IT%:
1. Phloem /tl?ﬁ'QT{
2. Meristematic tissue / fAHSIdP SHdd

3. Dermal tissue / @TIT S dd

4. Xylem / SITgcH

Correct Answer :-



« Dermal tissue / T SdP

18) The areas of a square and a rectangle are equal. If the side of the square is 24 cm and the
breadth of the rectangle is 16cm, then the length of the rectangle is: / Th Tl qur TP Ad & TP
IR ¢1 afe ot Tt Yo 24 I, B 9uT 3maa F1 AT 16 A, B, A 3mUd B dars gt

1.32 cm /32 941,
2.26 cm /26 I,
3.36 cm /36 9,

4,28 cm /28 9.

Correct Answer :-

e 36cm/36 9

19) PAQ is a line parallel to side BC of a triangle ABC. If ~PAB = 55° and 2ACB = 60°, then ~CAB =
. / PAQ XYW ABC Ft YSIT BC & THMIAR TS ¥@T g1 UfG 2PAB = 55° AUT LACB = 60°, @Y .CAB =
I

1.70°
2. 40°
3.45°

4. 65°

Correct Answer :-
e 65°

20) The agricultural practice followed after preparation of the soil is: / HJaI P AR F1 & IWid £
PR AT PT SFARVT fHaT wira 8:

1. Irrigation /ﬁ?ﬂé
2. Spraying pesticides and insecticides / WRUAAR ATL| G HIeAR $W%€Wﬁ
3. Sowing /§3*IT5:

4. Adding manure and fertilizer / "diq d IRP ST

Correct Answer :-

« Sowing / §~31’I'5c

21) ABCD is a trapezium in which AB | | DC and DC is perpendicular to BC. If z.DAB = 110°, then
2ABC - 2ADC = . / ABCD U% JHaH ¢ f5r9d AB | | DC 3R DC, BC R 3ifHevaad 21 afe ~DAB =
110°, @ 2ABC - ADC = I




1. 18°
2. 16°
3.20°

4. 220

Correct Answer :-

o 20°

22) Say 'No’ to plastic bags and ‘Yes’ to cloth bags because: / @WIRe® &1 Aferal &) AT F2 R FUS &
9T @1 7 P b

1. Plastics are made from wood pulp / WIR<® THal & Ho-qel J a1 gl gl

2. Plastic bags are biodegradable / W B Afert Saf et gt %"I

3. Plastics are non-biodegradable / W& 3rtaf=mt gl

4. Plastics are chemically reactive / TR QA ifNfsrarsiia g g1

Correct Answer :-

« Plastics are non-biodegradable / @& =1 g

23) Plasmolysis in a plant cell is defined as the . | T UTGY P11 A Sageaga- af
F = # yRurfa forar mar 81

1. break down of plasma membrane in hypotonic medium / 3 YR ATSH H Silagod Hal &1 f[dge

2. shrinkage of nucleoplasm / haha B HgﬂH
3. shrinkage of cytoplasm in hypertonic medium / &ﬁmﬁmmﬁaﬁﬁwaﬂw
4. none of the above/mﬁﬁﬁgﬁ

Correct Answer :-

« shrinkage of cytoplasm in hypertonic medium / mﬁmﬁmmﬁaﬂﬁwaﬂw

24) Electric fuse is connected i ﬁ?ﬁ gl SreT oA 81
1. across the energy meter / Soll Hiex & TaTy

2. on the live wire / ﬁwaﬂ W

3. on the neutral wire / G dR TR

4. on the earth wire / YdR W

Correct Answer :-

« on the live wire / ﬁgq?:m dR IR



25)

4 2 4 2
Solveforx:———=- /x & [&U — ==
3x—(5-3x) & & b 3x—(5-3x) &
5
1, 2
5
2.4
4
3.5
3
4,5

Correct Answer :-

26) The radius and the height of a cylinder are in the ratio 4:7 and if its volume is 352 cm3, then its radius is: / ¥ S&

3 Brsar aur SarS 4.7 & gura § § IUT i TS e 352 99 9. B, o) st B g
1.4 cm /4 9.
2.8 cm /8 G,
3.6.cm/ 6 9HI.

4,12 cm/ 12 9,

Correct Answer :-

e 4cm/49H)

27) The Met Department predicted heavy thunderstorm and lightning on a particular day, and Radha
wanted to go out with an umbrella but she was advised not to carry it because: / g faurT A Th

o1 Ut T SR fasTelt gafgar farar 4t SR A1eT U BTaT AeR a18R ST redl At afe 3@ wars & s
ft fr 98 3/ T A IR RN:

1. Electric discharge from clouds can travel to the metal parts of the umbrella /mﬁﬁ‘gﬂﬁﬁmﬁm% Yrg YT
GEACIREDI

2. It becomes slippery to hold / WWﬁWWEﬁW%I
3. It may get rusted / 3% TR ST @ Tl g |

4. The umbrella may get blown away/WTGSWQ‘TGITWT%I

Correct Answer :-

« Electric discharge from clouds can travel to the metal parts of the umbrella /W@WWW% Yrd YTt
P o Gl 3|



28) A star shaped figure was cut in the black paper strip used for covering the leaf of a destarched plant used
for demonstrating that light is necessary for photosynthesis. At the end of the experiment, when the leaf was
tested for starch with iodine, the star shaped figure in the leaf was found to be: / T® TR & ATHR Bt Gﬂ?ﬁf
Frelt BITe Bt Ugt A H1d W R et S Sierd 5 T 9ie 3 o=it B ewn & forg v sirar @ <t 9w weRfa
P & FIe swuTa giar @ % U= Ixauur & Ry SR 71 AT & o ®, 9e Uxit o1 i g1 W & g
gteror foam T o1, o usht | A 3t sropfa Ot urdt Wt

—

. Brown / Y&
. Blue black / =Yeft et

. Green/ g
. Colourless /ARfgd

N

w

N

Correct Answer :-

« Blue black / el &Teit

29) PQRS is a parallelogram. Side PQ is produced to T. IF 2QRS = 125°, then RQT = . / PQRS T
TR agus 81 YT PQ i g T aa seran Ml afe QRS = 125°, @ LRQT = |

1. 125°
2. 55°
3.70°

4.130°

Correct Answer :-

. 125°

30) The cost price of a computer is Rs. 20,650. An additional Rs. 450 was spent on installing some software.
If it was sold at 15% profit, then the selling price of the computer is / TP HEYCI T I 20,650 IqY %I
PO JTHAUR TR (3¥era) F1 | 450 IR sifaflvad @ 81 Tu| afe 98 F7ge 15% & ATY W 997 91T,
I HIER &1 faspa gea gim

1. Rs. 22500 / 22500 30
2. Rs. 25125 /25125 308
3. Rs. 23450 /23450 30

4. Rs. 24265 /24265 3Ud

Correct Answer :-






